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( 1) Zn+H;S04—>2ZnSO4+ H21

( 2) CaF,+H;S04—2% ,CaS04+2HF1

( 3) 2F+H,0—> 4HF+051

( 4) SiO;+6HF—>H,SiFs+2H20

( 5) 4HCI+MnO, 2% _,MnCl,+2H,0+Cl>?

( 6) CaCl(ClO)-H,0+2HCl—CaCl;+2H,0+Cl>1

>

>

-H,0 &= HCI+HCIO
-Ca(OH),—>CaCl(CIO)-H,0

>

-H, — 5 2HCI

(10) NaCl+H;S04—"* 5 NaHSO4+HCI1
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(11) 2KBr+Cl,——2KCI+Br;

(12) 2KI+Cl—>2KCl+1L|

(13) 2KI+Bro—>2KBr+1I|

(14) 2KCIO;—"2-2KCI+30,1

(15) 2H,0,- M ,2H,0+4 0,1

(16) 2KI+H,O+03——>2KOH+0,1+12]

(17) S+0,—>S021

(18) 2S0,+0, %% ,2S0s3

(19) SO3+H,0——=H3S04

(20) NaHSOs+H,SO4——NaHS04+H,0+S0;1
(21) Cu+2H;S04—2% 5 CuS04+2H,0+S021
(22) FeS+H,SO4——>FeS04+H,S1

(23) Cu+4HNO3——Cu(NO3)2+2H,0+2NO>1
(24) 3Cu-+8HNOs;—3Cu(NOs3),+4H,0+2N0O1
(25) 2NH4Cl+-Ca(OH),—2% 5 CaCl,+2H20+2NHs3
(26) Ny+3H, &= 2NH;

(27) NH3z+HCl—->NH4Cl

(28) NH3+H;O &= NH4"+OH™

(29) 4NH3+50;—>4NO1+6H.0

(30) 2NO+0;——>2NO0>1

(31) 3NO;+H,0——=2HNOs+NO1
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(32) 2NO2; &« N;04

(33) 4P+50,——P4019

(34) P4010+6H,0——4H3P04

(35) Caz(P04)2+2H2S04—>Ca(H2P04)2+2CaS04|
(36) 6CO,+6H,0——>CsH1206+60;1
(37) HCOOH_H20: ,H,04CO?

(38) C+H,0——CO1+Hz1

(39) SiO2+NaCOs;—>NaySiOs+C0:1
(40) Na;SiO3+2HCl—2NaCl4-H.SiOs
(41) 2Na+2H,0——2NaOH-+H;1

(42) Na,O-+H,O—->2NaOH

(43) 2NaOH-+CO;——NaCOs+H,0

(44) 2NaHCO;—2% ,NayCOs+H,0+COz1
(45) Na>COs;+2HCl—>2NaCl+H,0+C01
(46) NaHCOs;+HCl—NaCl+H,0+CO;1
(47) NaCl+NH3z+CO;+H20—>NaHCO3-+NH4Cl
(48) Ca+2H,0——Ca(OH)2+Haz1

(49) CaO-+H,O——Ca(OH),

(50) Ca(OH),+CO,—>CaC03}+H,0
(51) CaCOs+H,0+C0; &= Ca(HCOs);
(52) CaCOz3—2* ,Ca0+CO21
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(53) CaCOs

AR

2HCl——CaCl>

H,O

CO21

(54) CaC+2H,0——Ca(OH)2+CzH21
(55) 2AlI+6HCI—2AICIs+3H;31
(56) 2Al+2NaOH-+6H,0——2Na[Al(OH)4]+3H:21

(57) Al,0Os+

(58) Al,0Os+

(59) AI(OH)s-
(60) AI(OH)s-

-6HCl——2AICl3+3H,0
-2NaOH+3H,0——2Na[Al(OH)4]
-3HCl——AICI3+3H20
-NaOH——Na[Al(OH)4]

(61) Zn+H,S04—>ZnSO4-+Ha?
(62) Zn+2NaOH~+2H,0—>Nay[Zn(OH)4]+H2?
(63) ZnO+2HCl—ZnCl+H20
(64) ZnO-+2NaOH-+H,0——Naz[Zn(OH)4]

(65) Zn(OH);-
(66) Zn(OH);-
(67) Cu(OH);

- 2HCl—>ZnCl,+2H,0
-2NaOH—>Naz[Zn(OH)4]
ANH3—>[Cu(NH3)4]2"+20H~

(68) CuSO,+H»>S—>CuS|+H,S04

(69) 2Ag™

20H —AQgx0|

H,O

(70) Ag20+4NH3+H,0—>2[Ag(NH3)2]"+20H™
(71) Fe;03+2Al—>AlL,Os+2Fe
(72) FeCls+3H,0——Fe(OH)3+3HCI

(73) Pb+Pb0;+2H,S0s &= 2PbS04|+2H,0
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